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The Standard Normal Distribution : Laplace-Gauss

2:N01)

P0<Z<2)

0.1

0.03

0.04

0.05

0120

0180 |

039

03%8

0438

0478

051

0557

0636

0832

087

0810

1026

A1

17

1255

193

1554

1591

608 | .

M

1915

1950

2009 | .

257

201

23U

2357

2549

2580

261

2642

67 | .

2881

2910

2939

2967

303

3133

3159

3186

M

3038

3389

3413

3438

3461

2354 1,

357 | .

3621

3643

3665

3686

3708

3719

3749 |

3830

3849

3863

3888

3907

3025

3980

A015

403

4049

4066

A2

4115 |

4147 |

AT

419

A0

A

A6

A51

A265

A9

4306

4319

A33)

A345

A357

A0

438

A3%

A8

4409

A4

U5

Ai63

M4

M9 |

452

4535

4545

4554

A564

4573

A58

4591

4599

4616

4605

4633

Apdl

4649

4678

4693

469 | .

413

A8

AT26

473 | .

474 |

AT56

4761

AT67

A

AT1

418

4788 | .

A7%

A31

A817

A1

4826

4830

4834

4342

4857

A861

4871

4878

489

4893

A%01 |

4906 | .

491

4916

A918

A30

Am

4925

A

4331

A3 |

A%36

4938

A4

A%l

A8 | .

A48

A%

495

4953

4355

A%56

4957

4360

A%1 | .

4964

A965 | .

| A%7

A968

A

A971

A9n

A9T4

A974

4975

A976

AN

A978

A9

497 |

A%81

A081

A%%2

4982

A083

A%84

A985

4985

4986

A%87

5987

A%87

4988 |

A%80

4989

124

4989

4390




